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Thanks to Dr Ben Piper from Dept of Anaesthesia in 
Royal Darwin Hospital for sharing this. 



Disclaimer / Pre-amble 

• These cases have been de-identified to protect the identity 
of the patient and the treating teams. 
 

• These are all real cases and real ROTEMs. The individuals 
involved in these difficult cases have agreed to anonymously 
share these with us – thank you for your generosity. 
 

• Successful management of the bleeding patient involves 
much more than just administration of blood products. 
 

• The primary aim of these cases is to teach the use ROTEM 
guided blood product therapy. We have deliberately not 
included a lot of detail about some of the other aspects of 
management which might detract from this focus. 

 
 



 



 



 





History 

• MVA  

• Patient randomised to PATCH trial (TXA or 
placebo)  

• Initial ROTEM as follows 
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INTEM APTEM 

FIBTEM A5 = 3mm, EXTEM CT = 88s, EXTEM A5 = 29mm  
EXTEM ML = 72% APTEM ML = 61% 

FIBTEM EXTEM 



Now interprete the initial ROTEM 

Of note the ML is 61% on APTEM - hmmm? 

What treatments would you give? 
Use the FSH algorithm or better your hospital’s if 

it has one. 



 



i 

INTEM APTEM 

Treatment if following FSH algorithm: 
FIBRINOLYSIS: Extem ML = 72% give TXA 1g 
FIBRINOGEN: Fibtem A5 = 3mm – very low give a large dose of fibrinogen – e.g. 2-3 adult doses of 
cryoprecipitate (20-30 units of whole blood cryo OR 10-15 units of apheresis cryo) OR fibrinogen 
concentrate 4-6g  
PLATELETS: Extem A5 = 29mm – low because of low fibtem. No platelets needed at this stage 
FACTORS: Extem CT = 88s – slightly long because of low fibrinogen. No FFP needed at this stage 

FIBTEM EXTEM 

INTERPRETATION 

ROTEM ONE 



Do the EXTEM / INTEM / APTEM show fibrinolysis or is it 
something else? 

Why does the APTEM also show fibrinolysis (eg an ML of 61%? 
Doesn’t the APTEM have TXA in it to inhibit this? 

• We asked a few clever people for their opinion and the answer is we don’t know for sure. 
• Is it artefact / test error (the curve is concave not tapered …?) 
• Is it fibrinolysis that was severe enough that the TXA in the APTEM was insufficient to inhibit all of 

the fibrinolytic enzymes 
• Is it platelet mediated clot retraction (doesn’t really fit usually much milder)  
• The safest course of action is to assume it’s real fibrinolysis and give more TXA 
• If you have a comment or suggestion please let us know! 

APTEM 



Treatment 

• They are treated with TXA 1g and 10units of 
cryoprecipitate 

• Another ROTEM is done 
 

 



INTEM APTEM 

FIBTEM EXTEM 

ROTEM TWO 

FIBTEM A5 = 4mm, EXTEM CT = 88s, EXTEM A5 = 26mm  
EXTEM ML = 4% APTEM ML = 1% 



Now interprete the second ROTEM 

What treatments would you give? 
Use the FSH algorithm or better your hospital’s if 

it has one. 



INTEM APTEM 

Treatment if following FSH algorithm: 
FIBRINOLYSIS: No evidence of fibrinolysis now 
FIBRINOGEN: Fibtem A5 = 4mm – still very low  despite the 10units of cryo! 10units is nowhere near enough fibrinogen 
when the fibtem A5 is 3mm and even more so if there is a lot of ongoing bleeding. Give a large dose of fibrinogen – 
e.g. 2-3 adult doses of cryoprecipitate (20-30 units of whole blood cryo OR 10-15 units of apheresis cryo) OR fibrinogen 
concentrate 4-6g  
PLATELETS: Extem A5 = 26mm – probably mainly due to low fibtem. However it is close to 25mm and likely that 
platelets will be needed soon or if they are immediately available and the patient is still severely compromised then I 
would give some now. 
FACTORS: Extem CT = 88s – slightly long because of low fibrinogen – will probably fully correct if adequate dose of cryo 
/ fibrinogen is given. No FFP needed at this stage. 

FIBTEM EXTEM 

INTERPRETATION 

ROTEM TWO 



Unfortunately we don’t have any more clinical 
information on the patient, but there is plenty 
to learn from these two ROTEMs. 



Take Home Points 

1. Very low fibrinogen levels (eg fibtem A5<6mm) need large doses of 
fibrinogen to correct the deficit. Give an appropriately large dose of 
fibrinogen based on the first ROTEM result (20-30u cryo or 5-6g Fib conc) 
– using this approach you can potentially correct their coagulopathy 
within 30-45min. If you just give small doses and recheck you can take 
hours to catch up or if they continue to bleed rapidly you may actually 
even fall behind…. 

2. When you routinely use viscoelastic testing in haemorrhage you realise 
that as in this case fibrinolysis and low fibrinogen are the most common 
haemostatic defects to develop in hypovolaemic haemorrhagic shock. 

Thanks again to Dr Ben Piper from the Dept of Anaesthesia 
Royal Darwin Hospital NT for sharing this case. 


